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BSEH Practice Paper (March 2024) 

CLASS: 10th (Secondary)      Code: D 

Roll No.  

ͪव£ान 

SCIENCE 

(Physics, Chemistry and Life Science) 

[Hindi and English Medium] 

ACADEMIC / OPEN 

[Time allowed: 3 hours]     [Maximum Marks: 60] 

________________________________________________________ 

 कृपया सुǓनिæचत करɅ ͩक इस Ĥæन पğ मɅ मुǑġत पçृठ संÉया मɅ 18 हɇ 
और इसमɅ 30 Ĥæन हɇ। 
Please make sure that the printed pages in this question 
paper are 18 in number and it contains 30 questions. 

 Ĥæन पğ के दाɃ ओर Ǒदए गए कोड नàबर को छाğ ɮवारा उƣर-पुिèतका 
के पहले पçृठ पर ͧलखा जाना चाǑहए। 
The Code No. on the right side of the question paper should 
be written by the candidate on the front page of the answer-
book. 

 ͩकसी Ĥæन का उƣर देना शुǾ करने स ेपहले उसका Đमांक ͧलखना होगा। 
Before beginning to answer a question, its Serial Number 
must be written. 
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 अपनी उƣर पुिèतका मɅ खालȣ पÛना /पÛन ेन छोड़Ʌ। 
Don’t leave blank page/pages in your answer-book. 

 उƣर-पुिèतका के अǓतǐरÈत  कोई अÛय शीट नहȣं दȣ जाएगी। अतः 
आवæयकतानुसार हȣ ͧलखɅ व ͧलख ेउƣर को न काटɅ। 
Except answer-book, no extra sheet will be given. Write to 
the point and do not strike the written answer. 

 परȣ¢ाथȸ अपना रोल नंबर Ĥæन पğ पर अवæय ͧलखɅ। 
Candidates must write their Roll Number on the question 
paper. 

 कृपया Ĥæनɉ का उƣर देने से पूव[ यह सुǓनिæचत कर लɅ ͩक Ĥæनपğ पूण[ 
व सहȣ है, परȣ¢ा के उपरांत इस संबंध मɅ कोई भी दावा èवीकार नहȣ ंͩकया 
जाएगा। 
Before answering the questions, ensure that you have been 
supplied the correct and complete question paper, no claim 
in this regard, will be entertained after examination. 

________________________________________________________ 

सामाÛय Ǔनदȶश:  

 (i) सभी Ĥæन अǓनवाय[ हɇ। 

 (ii) वèतुǓनçठ Ĥæनɉ के सहȣ ͪवकãप ͧलखɅ। 

(iii) Ĥ×येक Ĥæन के अंक उसके सामने दशा[ए गए हɇ। 

General Instructions:  

 (i) All questions are compulsory. 

 (ii) Write the correct option in objective type questions. 
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 (iii) Marks of each question are indicated against it. 

खंड– अ 

SECTION – A 

(भौǓतक ͪव£ान) 

(Physics) 

1.  चुंबकȧय ¢ेğ एक ऐसी राͧश है िजसमɅ:    1 

  a) पǐरमाण  

  b) Ǒदशा  

  c) उपयु[Èत दोनɉ  

  d) इनमɅ से कोई नहȣ ं 

Magnetic field is a quantity that has: 

  a) magnitude 

  b) direction 

  c) both of the above 

  d) none of these  

 2.  दͯ¢ण हèत अंगçुठ Ǔनयम का उपयोग ͩकसकȧ Ǒदशा Ǔनधा[ǐरत करन े

के ͧलए ͩकया जा सकता है?      1 

  a) चुंबकȧय ¢ेğ  

  b) बल  

  c) उपयु[Èत दोनɉ  
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  d) इनमɅ से कोई नहȣ ं

Right hand thumb rule can be used to determine the 

direction of:    

a) Magnetic field   

  b) Force  

  c) both of the above   

  d) none of these  

3.  एक चुंबक के अंदर, चुंबकȧय ¢ेğ रेखाएं _______________ से 

________________ तक जाती हɇ.     1 

 Inside a magnet, magnetic field lines move from 

_________________ to ________________.  

 4.  एक वोãट को पǐरभाͪषत कȧिजए।      1 

Define one volt.  

5.  Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), 

Ĥæन के नीच ेǑदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर

 दȣिजए।         1 

अͧभकथन (A): बãब के तÛत ुबनाने के ͧलए उÍच गलनाकं के एक 

Ĥबल धात ुका उपयोग ͩकया जाता है। 

कारण (R): बãब के तÛत ुको Ĥकाश उ×पÛन करन ेके ͧलए िजतना 

संभव हो उतना उ×पÛन ऊçमा को रोके रखना चाǑहए। 

  a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 
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  b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

  c) A स×य है परंतु R अस×य है। 

  d) A अस×य है परंतु R स×य है। 

The question below consists of two statements: Assertion 

(A) and Reason (R), answer the question by selecting 

the appropriate option given below. 

Assertion (A): A strong metal with high melting point is 

used for making bulb filaments. 

Reason (R): Filament of bulb must retain as much of 

heat generated as possible to emit light. 

a) Both A and R are true, and R is the correct 

explanation of A.  

b) Both A and R are true and R is not the correct 

explanation of A.   

  c) A is true but R is false  

  d) A is false but R is true.   

 6.  ͩकसी लɅस कȧ ¢मता को पǐरभाͪषत कȧिजए। इसका माğक ͧलͨखए। 

            2  

  Define power of a lens. Write its unit.   

 7.  सामाÛय Ǻिçट के मानव नğे के दरू ǒबदं ु और Ǔनकट ǒबदं ु को 

पǐरभाͪषत करɅ।        2 
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  Define far point and near point of human eye with normal 

vision.  

अथवा 

Or 

  ͩकसी अतǐंर¢ याğी को आकाश नीले कȧ अप¢ेा काला Èयɉ Ĥतीत 

होता है?         2 

  Why does the sky appear dark instead of blue to an 

astronaut? 

 8. यǑद वèत ुको C और F के बीच रखा जाता है, तो अवतल गोलाकार 

दप[ण ɮवारा बनाए गए ĤǓतǒबबं का एक ͩकरण आरेख बनाएं। 

         3 

  Draw a ray diagram of image formed by a concave 

spherical mirror if object is placed between C and F. 

अथवा  

Or  

  Ĥकाश के अपवत[न के Ǔनयम ͧलͨखए।     3 

  Write laws of refraction of light.  

 9.  एक दȣघ[-Ǻिç ट  दोषयुÈ त नेğ का Ǔनकट ǒबदं ु1 m है। इस दोष को 

संशोͬधत करने के ͧलए आवæयक लɅस कȧ ¢मता Èया होगी? यह 

मान लȣिजए ͩक सामाÛय नğे का Ǔनकट ǒबदं ु25 cm है। 3 
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  The near point of a hypermetropic eye is 1 m. What is 

the power of the lens required to correct this defect? 

Assume that the near point of the normal eye is 25 cm. 

 10.  ओम के Ǔनयम को पǐरभाͪषत करɅ और समझाएं।   5 

  Define and explain Ohm’s law. 

अथवा 

Or 

  एक ͪ वɮयुत लैàप िजसका ĤǓतरोध 20 � है, तथा एक 4 Ω ĤǓतरोध 

का चालक 6 V कȧ बैटरȣ से ͬचğ मɅ Ǒदखाए अनुसार संयोिजत हɇ। 

  An electric lamp, whose resistance is 20 Ω, and a 

conductor of 4 Ω resistance are connected to a 6 V 

battery as shown in figure. 

 

  Ǔनàनͧलͨखत का पǐरकलन कȧिजए। 

  Calculate the following:  

  (a) पǐरपथ का कुल ĤǓतरोध       1 

  Total resistance of the circuit 
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  (b) पǐरपथ मɅ ĤवाǑहत ͪवɮयतु धारा      2 

  The current through the circuit 

  (c) ͪवɮयतु लàैप तथा चालक के ͧसरɉ के बीच ͪवभवातंर  2 

  The potential difference across the electric lamp and 

conductor.    

खंड– ब 

SECTION – B  

(रसायन ͪव£ान) 

(Chemistry) 

 11.  सोͫडयम काबȾनेट के पुन: ͩĐèटलȣकरण ɮवारा Ǔनàनͧलͨखत मɅ से 

Èया उ×पÛन होता है?    1 

  a) साधारण नमक  

  b) ͪवरंजक चणू[  

  c) धोन ेका सोडा   

  d) िजÜसम  

Which of the following is produced by recrystallisation of 

sodium carbonate? 

  a) Common salt 

  b) Bleaching powder 

  c) Washing soda 
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  d) Gypsum 

 12.  Which is most ductile metal?      1 

  a) चांदȣ  

  b) सोना  

  c) ÜलǑैटनम   

  d) ताँबा 

Which is the most ductile metal? 

  a) silver 

  b) gold 

  c) platinum 

  d) copper 

13.  एथेनॉइक अàल, ________________ के साथ अͧभͩĐया करके 

एͬथल एथेनोएट बनाता है।      1 

Ethanoic acid reacts with ________________ to form 

ethyl ethanoate. 

14.  उस रासायǓनक यौͬगक का नाम बताइए जो दांतɉ का इनैमल  

(दƣवãक) बनाता है।       1 

Name the chemical compound which makes tooth 

enamel. 

15.  Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), 
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Ĥæन के नीच ेǑदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर

 दȣिजए।         1 

अͧभकथन (A): ͪवɮयुत अपघटनी पǐरçकरण शɮुध धातु स ेअशुɮध 

धातु ĤाÜत करन ेकȧ ͪवͬध है। 

कारण (R): अशुɮध धातु को एनोड बनाया जाता है और शɮुध धात ु

को कैथोड बनाया जाता है। 

a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

  b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

  c) A स×य है परंतु R अस×य है। 

  d) A अस×य है परंतु R स×य है। 

The question below consists of two statements: Assertion 

(A) and Reason (R), answer the question by selecting 

the appropriate option given below. 

Assertion (A):  Electrolytic refining is method of obtaining 

impure metal from pure metal. 

Reason (R): Impure metal is made anode and pure metal 

is made cathode. 

a) Both A and R are true, and R is the correct 

explanation of A.  

b) Both A and R are true and R is not the correct 

explanation of A.   

  c) A is true but R is false  
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  d) A is false but R is true.   

 16.  ऊçमा¢ेपी एव ंऊçमाशोषी अͧभͩĐया का Èया अथ[ है? उदाहरण 

  दȣिजए।         2 

What does one mean by exothermic and endothermic 

reactions? Give examples.  

अथवा 

Or 

ͪवèथापन अͧभͩĐया के दो उदाहरण ͧलखɅ।     2 

Write two examples of displacement reaction.  

17.  हाइĜोजन सãफ़ाइड के हवा मɅ जलन ेपर अͧभͩĐया के ͧलए संतुͧलत  

रासायǓनक समीकरण ͧलͨखए।      2 

  Write a balanced chemical equation for a reaction when 

hydrogen sulphide is burnt in air.  

 18.  आपको तीन परखनͧलयाँ दȣ गई हɇ। इनमɅ से एक मɅ आसͪवत जल 

एव ंशेष दो मɅ स ेएक मɅ अàलȣय ͪवलयन तथा दसूरे मɅ ¢ारȣय 

ͪवलयन है। यǑद आपको केवल लाल ͧलटमस पğ Ǒदया जाता है तो 

आप Ĥ×येक परखनलȣ मɅ रख ेगए पदाथɟ कȧ पहचान कैसे करɅगे? 

            3 

  You have been provided with three test tubes. One of 

them contains distilled water and the other two contain 

an acidic solution and a basic solution, respectively. If 
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you are given only red litmus paper, how will you identify 

the contents of each test tube? 

 19.  Ǔनàन पदɉ कȧ पǐरभाषा दȣिजए—      3 

  Define the following terms: 

  (a) खǓनज  

  Mineral 

  (b) अयèक 

  Ore  

  (c) गɇग 

  Gangue  

अथवा 

Or 

  Ĥ×यूष न ेसãफ़र चणू[ को èपैचलुा मɅ लेकर उसे गम[ ͩकया। ͬचğ के 

अनसुार एक परखनलȣ को उã टा करके उसने उ×सिज[त गैस को एकğ 

ͩकया। 
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  Pratyush took sulphur powder on a spatula and heated 

it. He collected the gas evolved by inverting a test tube 

over it, as shown in figure below. 

 

  (a) गैस कȧ ͩĐया Èया होगी— 

  What will be the action of gas on?  

   (i) सखू ेͧलटमस पğ पर?     1 

   dry litmus paper?  

   (ii) आġ[ͧलटमस पğ पर?      1 

   moist litmus paper?       

  (b) ऊपर कȧ अͧभͩĐयाओ ंके ͧलए संतुͧलत रासायǓनक अͧभͩĐया 

ͧलͨखए।         1 

  Write a balanced chemical equation for the reaction 

taking place.  

20.  Ǔनàनͧलͨखत यौͬगकɉ का नामकरण कȧिजए।     5 

 Write the name of following compounds.  
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  a) CH2=CHCH2CH3 

  b) CH3CH2CH2CH2CH2CH3 

  c) HCHO 

  d) CH3CH2CH2OH 

  e) CH3CH2COOH 

अथवा 

Or 

Ǔनàनͧलͨखत अͧभͩĐयाओं के उ×पादɉ का नाम ͧलͨखए।   5 

 Write the name of products of following reactions.  

  a) एथनॉल का दहन  

  Combustion of ethanol  

  b) एथनॉल का ऑÈसीकरण  

  Oxidation of ethanol  

  c) Ĥोपीन का हाĜोजनीकरण 

  Hydrogenation of propene  

  d) एथनॉल के साथ सोͫडयम कȧ अͧभͩĐया 

  Reaction of sodium with ethanol   

  e) एथनॉल के साथ गम[ एव ंसाġं सãāयǐूरक अàल कȧ अͧभͩĐया  

  Reaction of hot and concentrated sulphuric acid with 

ethanol.  
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खंड– स 

SECTION – C  

(जीव ͪव£ान) 

(Biology) 

 21.  वंशागǓत के Ǔनयम ͩकसने Ǒदए?     1 

  a) मÛेडल 

  b) डाͪव[न  

  c) ͩĐक  

  d) Ûयूटन  

Who gave the rules for inheritance?  

  a) Mendel 

  b) Darwin 

  c) Crick  

  d) Newton 

 22.  Ǔनàनͧलͨखत मɅ स ेÈया दो अलग-अलग ल¢णɉ कȧ èवतंğ वंशानगुǓत 

के ͧलए F2 अनुपात को दशा[ता है?      1 

  a) 9:6:3:1 

   b) 9:3:3:1 

   c) 9:3:6:1  

  d) 9:1:3:1  
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Which of the following represents F2 ratio for independent 

inheritance of two separate traits? 

  a) 9:6:3:1 

   b) 9:3:3:1 

   c) 9:3:6:1  

  d) 9:1:3:1  

 23. वसा का पणू[ पाचन ___________ और ____________ का 

उ×पादन करता है।        1 

The complete digestion of fats produces 

______________ and ______________.   

 24. पादप हॉमȾन Èया हɇ?       1 

What are plant hormones? 

25.  Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), 

Ĥæन के नीच ेǑदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर 

दȣिजए।         1 

अͧभकथन (A): लɇͬ गक जनन से अलɇͬ गक Ĥजनन कȧ तुलना मɅ 

अͬधक ͪवͪवधताए ंउतपÛन होती हɇ। 

कारण (R): दो ͧभÛन जीवɉ कȧ यÊुमक कोͧशकाएँ लɇͬ गक जनन मɅ 

यÊुमन ɮवारा एक नए जीव का Ǔनमा[ण करती हɇ।  

  a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

  b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  
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  c) A स×य है परंतु R अस×य है। 

  d) A अस×य है परंतु R स×य है। 

The question below consists of two statements: Assertion 

(A) and Reason (R), answer the question by selecting 

the appropriate option given below. 

Assertion (A): Sexual reproduction results in more 

variations than asexual reproduction. 

Reason (R): Germ-cells from two individuals combine 

during sexual reproduction to form a new individual.  

a) Both A and R are true, and R is the correct 

explanation of A.  

b) Both A and R are true and R is not the correct 

explanation of A.   

  c) A is true but R is false  

  d) A is false but R is true.   

 26. मनुçयɉ मɅ वषृण ɮवारा ͩकए जाने वाले काय[ Èया हɇ?  2 

  What are the functions performed by testis in humans? 

 27.  आप कचरा Ǔनपटान कȧ समèया कम करने मɅ Èया योगदान कर 

सकत ेहɇ? ͩकÛहȣ ंदो तरȣकɉ का वण[न कȧिजए।   2 

  How can you help in reducing the problem of waste 

disposal? Give any two methods. 

अथवा 
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Or 

  Èया ͩकसी पोषी èतर के सभी सदèयɉ को हटाने का Ĥभाव ͧभÛन-

ͧभÛन पोषी èतरɉ के ͧलए अलग-अलग होगा? Èया ͩकसी पोषी èतर 

के जीवɉ को पाǐरतंğ को Ĥभाͪवत ͩकए ǒबना हटाना संभव है? 

  Will the impact of removing all the organisms in a trophic 

level be different for different trophic levels? Can the 

organisms of any trophic level be removed without 

causing any damage to the ecosystem? 

 28. एक तंǒğका कोͧशका (Ûयरूॉन) कȧ नामांͩकत संरचना बनाइए । 3 

  Draw the labelled structure of a neuron. 

 29.  यौवनारंभ के समय लड़ͩकयɉ मɅ कौन स ेपǐरवत[न Ǒदखाई देते हɇ?

          3 

  What are the changes seen in girls at the time of 

puberty?  

 30. वÈृकाण ु(नेĥॉन) कȧ रचना का ͬचğ सǑहत वण[न कȧिजए। 5 

  Describe the structure of nephrons with diagram.   

अथवा 

Or 

  पादप मɅ जल और खǓनज लवण का वहन कैसे होता है?  5 

  How are water and minerals transported in plants? 

 


